
SAP ABAP table VBAKUK {Generated Table for View}

VBAKUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

AUART [CHAR (4)]

AUGRU  [CHAR (3)]

LIFSK [CHAR (2)]

FAKSK [CHAR (2)]

WAERK [CUKY (5)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

GSBER [CHAR (4)]

GSKST [CHAR (4)]

KALSM [CHAR (6)]

VSBED [CHAR (2)]

FKARA [CHAR (4)]

BSARK [CHAR (4)]

KUNNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 VBAKUK-KUNNR = KNA1-KUNNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 VBAKUK-MANDT = T000-MANDT 
0..N

1

T176

MANDT [CLNT (3)]

BSARK [CHAR (4)]

 VBAKUK-BSARK = T176-BSARK 
0..N

{0,1}

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 VBAKUK-KALSM = T683-KALSM 
0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VBAKUK-WAERK = TCURC-WAERS 
0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VBAKUK-GSBER = TGSB-GSBER 

0..N

{0,1}

 VBAKUK-GSKST = TGSB-GSBER 0..N

{0,1}

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]
 VBAKUK-AUART = TVAK-AUART 0..N

1

TVAU

MANDT [CLNT (3)]

AUGRU [CHAR (3)] VBAKUK-AUGRU = TVAU-AUGRU 0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 VBAKUK-VKGRP = TVBVK-VKGRP 
0..N{0,1}

TVFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

 VBAKUK-FKARA = TVFK-FKART 

0..N

{0,1}

TVFS

MANDT [CLNT (3)]

FAKSP [CHAR (2)]

 VBAKUK-FAKSK = TVFS-FAKSP 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 VBAKUK-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 VBAKUK-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 VBAKUK-VTWEG = TVKOV-VTWEG 

0..N

1

TVLS

MANDT [CLNT (3)]

LIFSP [CHAR (2)]

 VBAKUK-LIFSK = TVLS-LIFSP 

0..N

{0,1}

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 VBAKUK-VSBED = TVSB-VSBED 

0..N

{0,1}

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 VBAKUK-SPART = TVTA-SPART 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VBAKUK-VBELN = VBUK-VBELN 

{0,1}

1


